When it's good : height = 259px

= <form id="seblod form" name="seblod form"™ method="get" autocomplete="off" action="/nos-gammes/epandeur-caisse-etroite
xeal-cerezliere html">

<diwv eclass="cck page_sesrch cck-eclrfix">

<div class="clrc"r </div>
<diwv>
= =diwv id="system" class="cck page list cck-clefix™>

= <div class="cck page items">¥

B <div id="ccklr™ class="hidden-phone cck-£100 cck-pad-8">
B <diw elass="ecck-line-blog-teopl cek-wl00 cck-line™s

<div id="ccklr_topl-1" class="cck-w33f cck-fl cck-ptb" style="height: Z553px;">

<div id="ccklr topl-2" class="cck-w34f cck-Ifl cck-ptb"™ atyle="height: Z55px;">
<div id="ccklr_topl-3" class="cck-w33f cck-fl cck-ptb"™ style="height: Z53px;">
<fdiv>
<div eclass="cck-clear"» </div>
<div eclass="cck-line-blog-middlel cck-wl00 cck-line™»
<div eclass="cck-clear"» </div>
<diwv class="cck-line-blog-middle? cck-wl00 cck-line"»
<div eclass="cck-clear"» </div>
when it's wrong height = 103px ????
= <=form id="seblod form" name="seblod_ form" method="get" autocomplete="off" action="/nos-gammes/epandeur-caisse-etroite

nezl-ceregliere html"™>
<div clasa="cck_page_search cck-clrfix™»
<div clagss="clr"» </div>
<diw
= =diwv id="system" class="cck _page_ list cck-clrfix">
= <diwv class="cck page items">
[H <div id="ccklr" class="hidden-phone cck-£100 cck-pad-E">
E <div class="cck-line-blog-topl cck-wl00 cck-line™>
<div id="ccklr_topl-1" class="cck-w33f cck-fl cck-ptb"™ atyle="height: 103px:"=>
<div id="ccklr_topl-2" clasa="cck-w34f cck-fl cck-pth"™ atyle="height: 103px;">
<div id="ccklr_ topl-3" clasa="cck-w33f cck-fl cck-ptk"™ atyle="height: 103px;">
</Sdiv>
<div class="cck-clear"> </div>
<div class="cck-line-blog-middlel cck-wl00 cck-line">
<div class="cck-clear"» </div>
<div class="cck-line-bklog-middleZ cck-wl0d cck-line™>
<div class="cck-clezr">» </ div>

#H <diw ~rlaaa="rrk-Tine-hlnmr-hrttrm] celk-wl 00 cek-Tina">



